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1x1x3=3nmx? V=mrzxH
V =10 x 10 x 5 = 500 ninx3 V=3x5"x5
500 ninx?/ 3 nnx® = 166% V=3x25x5
V = 375 ninn®
375 nnx3/ 3 nnxd = 125
X"Manmvwn
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100 ot D = Diameter = 21
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111 =nip

r = Radius = orrm
106 =1p

H = Height = han
L = Length nix
W = Width ann

P = Perimeter qp'n

T=3

111 /106 x 3 = 3.1415!!!

150 x 3 ninx3 = 450 ninx3
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V = Volume = n:m
D = Diameter = w01 ninx 10

r = Radius = orrm g
H = Height = nan
L = Length nix
W = Width ann
P = Perimeter q'n

T=3

Ninx 10

nnx 10

A
\ 4

0l NUIU

ninx 5
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q*n [AUN2 R — 12wN 97N en V (Cube nmaip) =L x W x H (10 x 10 x 5 = 500)

Rashi used perimeter calculation for area/volume V (Cylinder 71) = r2 x H (3 x 52 x 5 = 375)
V (Cube nmujp) / V (Cylinder '71'73)
LxWxH/mr2xH
XeXeH/m(¥2X)?+H
X+ X<+H/m(2)?X?+ H

P (Cylinder 7''71) = nD
P (Cube nip) = 4D
P (Cube naip) / P (Cylinder '2'73)

4D / D
26 1 26
4D /3D X2+H/nVaX?+H
. X2 / mV/aX?
P (Cube naip) / P (Cylinder 1) =4/3
1/ Vs
1/%

V (Cube nmaip) / V (Cylinder 1) =4 /3 =500/ 375
375 nnx3/ 3 ninx3 =125
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V (Cube nmaip) =Lx W x H (10 x 10 x 3 = 300)
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V (Cylinder '7'12) = tr2 x H (3 x 52 x 2 = 150)
V (Cube nnaip) + V (Cylinder 7'11) = 450 ninx3

V (Cylinder '7'12) = tr2 x H (3 x 52 x 5 = 375) 450 ninx3 / 3 nmx® = 150 nixipn

V (Cone yaa) = Vsmr x H (s x 3 x 52 x 7.5 = 187.5)

V (Cylinder '771) / V (Cone yraa) =2/1=375/187.5 V = Volume = nsa
D = Diameter = iy
r = Radius = orrm
H = Height = nan
L = Length nux
W = Width annn
P = Perimeter qp'n

T=3

V (Cone y1a) / V (Cone yraa + Cylinder '7'23) = s = 187.5 / (375 + 187.5)
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